Practice Hands Module 3

Board 1 4 Q1064
North Deals vy A2
None Vul ¢ K62
#9643
& K92 N & A753
vJ10975 W E vyQ63
¢ A7 = ¢ 854
&J72 & K108
& J8
vy K84
¢ QJ1093
* AQ5
West North East South
Pass Pass INT
All pass

After 2 passes, South opens 1 NT.

North can calculate that there their side doesn't have
enough HCP for game. As they have a balanced hand
they pass to leave partner to play in 1 NT.

West leads: v J

South needs to play on ¢ s to establish 4 tricks in that suit
to make their contract.

Board 3 & K95
South Deals v 10984
E-W Vvul ¢ AQ10
Q64
& 104 N 4 AQJ87
vy A65 W E v7
¢ K8762 = ¢ 543
& AK5 & 10832
4 632
vyKQJ32
¢+ J9
&JO7
West North East South
Pass
INT Pass 24 All pass

Opposite West's 1 NT opening, East can see they don't
have enough for game. With their unbalanced hand with a
5-card Major suit, they sign off in 2 4 s.

South leads: v K

Declarer wins ¥ A and leads the # 10 to draw trumps with
a finesse.

Later Declarer can establish an extra trick with their long #
to make 9 tricks, for an overtrick.

Board 2 a KJ74
East Deals v 3
N-S Vul ¢ 8643
& J532
6 82 N 4 A965
vy KQ10875 W E vy A42
¢ KQ - ¢ J75
& K86 & AOQ7
4 Q103
vJ96
¢ A1092
Q104
West North East South
INT Pass
4v All pass

East opens 1 NT with a balanced 13 HCP.
Having 6 vs West knows there's a v fit. With their 13 HCP
there's enough to bid to the 4 ¥ game.

North leads: « 4 or & 2

Declarer first draws trumps then plays ¢ s (e.g.¢ K) to
force out the ¢ A and establish 2 tricks in that suit.
withe Q then later ¢ J as winners (when in dummy) to
discard their # loser. This play makes 11 tricks for an
overtrickin4 v.

Board 4 & A97
West Deals v J105
Both Vul ¢ A9
& A9843
4 Q1042 N 4 865
vy K982 W E vyQ76
¢ 752 = ¢ QJ108
&Q2 & J105
& KJ3
vy A43
¢ K643
& K76
West North East South
Pass INT Pass 3NT
All pass

North's hand is a balanced 13 HCP, so they open 1 NT.
South has 14 HCP, so they know 26+ between their hands
- enough for game. South, also balanced, therefore
chooses 3 NT.

East leads: ¢ Q (sequence)

Declarer wins ¢ A then plays on #s. After losing one %
trick they can make 4 tricks in that suit. With the 5 top
tricks in the other suits, this is enough to make 9 tricks for
3NT.

NZB (Inc) © Copyright Reserved 2025

Opening 1 NT version FD2

Beginners Module 3



Practice Hands Module 3

Board 5 465
North Deals v 10642
N-S Vul ¢ Q973
& K96
& J9872 N & KQ
vy AJ9 W E vyKQ83
¢ AK = ¢ J842
& 853 & QJ2
o A1043
v75
¢ 1065
& Al1074
West North East South
Pass INT Pass
3e Pass 3NT All pass

West has game values opposite their partner's 1 NT
opening. They respond a forcing 3 # looking for 3 card
support. As East has only 2 4 s they bid 3 NT.

South leads: # 4

Once they get the lead, Declarer needs to play on 4 s to

force out the Ace and establish 2 extra tricks in that suit.

Board 6
East Deals
E-W Vul

4 Q32

v A8

¢ KQ102
& 9843

West

Pass
All pass

North

INT

& A1097
vy K72

¢ 8763
& AK

\
W =
S

& 86
vyQJ1063
¢ 95

& J1052
East
Pass
Pass

a4 KJ54
v 954
¢ AJA
+Q76

South
Pass
29

Opposite partner's 1 NT opening, South bids a weak
takeout to 2 ¥ which is likely to play better than 1 NT.

West leads: ¢ K

Declarer can ruff (trump) the third round of ¢ s and then

should draw trumps.

2 v should make 8 tricks. If North played 1 NT, it should be

defeated.
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Board 7
South Deals
Both Vul

o K84
v 842

¢+ Q975
* KO8

West

Pass
All pass

East leads: ¥ K

4 AJ1065
v A5
¢ J42
& QJ5
N & 72
vyKQJ73
WSE + 83
& 10432
4 Q93
v 1096
¢ AK106
& A76
North East South
INT
3a Pass 4 &

Once South opens 1 NT North sees they have combined
values for game. They take charge of the auction to check
for a & fit, using a forcing 3 # response. Partner should
raise to 4 # with their 3 card support.

North crosses to dummy with a top ¢ to draw trumps via a
finesse of # K, leading # Q or 4 9 and running it.

Board 8
West Deals
None Vul

& K72
vy AJ109
¢ KJ53
& Q10

West
INT
3NT

North leads: # Q

game.

4 QJ109
vy62

¢ 1097

&J987

\
W =
S

4 865
vy K874
¢ A64
& K54
North
Pass
All pass

o A43
vy Q53
¢+ Q82
*A632

East
2NT

South
Pass

With 12 HCP East invites game in NT opposite their
partner's opening. West has a maximum, so they accept
the invite and go onto 3 NT.

Declarer wins the lead on dummy and leads ¥ Q and, if
not covered, runs it to finesse the v K.

After the successful v finesse, Declarer plays ¢ s to
establish extra tricks in that suit for an overtrick in the 3NT
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[Event "Practice Hands Module 3"]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:QT64.A2.K62.9643 A753.Q63.854.KT8 J8.K84.QJT93.AQ5 K92.JT975.A7.J72"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{After 2 passes, South opens 1NT.\n

North can calculate that there their side doesn't have enough HCP for game. As

they have a balanced hand they pass to leave partner to play in 1NT.



West leads: \HJ



South needs to play on \Ds to establish 4 tricks in that suit to make their

contract.}

[BCFlags "1f"]

[Auction "N"]

Pass Pass 1NT AP



[Event ""]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:A965.A42.J75.A97 QT3.J96.AT92.QT4 82.KQT875.KQ.K86 KJ74.3.8643.J532"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{East opens 1NT with a balanced 13 HCP.\n

Having 6 \Hs West knows there's a \H fit. With their 13 HCP there's enough to

bid to the 4\H game.



North leads: \S4 or \C2



Declarer first draws trumps then plays \Ds (e.g.\DK) to force out the \DA and 

establish 2 tricks in that suit. with\DQ then later \DJ as winners (when in

dummy) to discard their \C loser. This play makes 11 tricks for an overtrick in

4\H.}

[BCFlags "1f"]

[Auction "E"]

1NT Pass 4H AP



[Event ""]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:632.KQJ32.J9.J97 T4.A65.K8762.AK5 K95.T984.AQT.Q64 AQJ87.7.543.T832"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{Opposite West's 1NT opening, East can see they don't have enough for game.

With their unbalanced hand with a 5-card Major suit, they sign off in 2\Ss.



South leads: \HK\n

Declarer wins \HA and leads the \S10 to draw trumps with a finesse.\n

Later Declarer can establish an extra trick with their long \C to make 9

tricks, for an overtrick.







}

[BCFlags "1f"]

[Auction "S"]

Pass 1NT Pass 2S

AP



[Event "Practice Hands Module 3"]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:QT42.K982.752.Q2 A97.JT5.A9.A9843 865.Q76.QJT8.JT5 KJ3.A43.K643.K76"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{North's hand is a balanced 13 HCP, so they open 1NT. \n

South has 14 HCP, so they know 26+ between their hands - enough for game.

South, also balanced, therefore chooses 3NT.



East leads: \DQ (sequence)\n

Declarer wins \DA then plays on \Cs. After losing one \C trick they can make 4 

tricks in that suit. With the 5 top tricks in the other suits, this is enough

to make 9 tricks for 3NT.

}

[BCFlags "1f"]

[Auction "W"]

Pass 1NT Pass 3NT

AP



[Event ""]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:65.T642.Q973.K96 KQ.KQ83.J842.QJ2 AT43.75.T65.AT74 J9872.AJ9.AK.853"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{West has game values opposite their partner's 1NT opening. They respond a

forcing 3\S looking for 3 card support. As East has only 2 \Ss they bid 3NT.



South leads: \C4



Once they get the lead, Declarer needs to play on \Ss to force out the Ace and

establish 2 extra tricks in that suit.}

[BCFlags "1f"]

[Auction "N"]

Pass 1NT Pass 3S

Pass 3NT AP



[Event ""]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:KJ54.954.AJ4.Q76 86.QJT63.95.JT52 Q32.A8.KQT2.9843 AT97.K72.8763.AK"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{Opposite partner's 1NT opening, South bids a weak takeout to 2\H which is

likely to play better than 1NT.



West leads: \DK



Declarer can ruff (trump) the third round of \Ds and then should draw trumps.\n

2\H should make 8 tricks. If North played 1NT, it should be defeated.









}

[BCFlags "1f"]

[Auction "E"]

Pass Pass Pass 1NT

Pass 2H AP



[Event ""]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:Q93.T96.AKT6.A76 K84.842.Q975.K98 AJT65.A5.J42.QJ5 72.KQJ73.83.T432"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{Once South opens 1NT North sees they have combined values for game. They take

charge of the auction to check for a \S fit, using a forcing 3\S response.

Partner should raise to 4\S with their 3 card support. 



East leads: \HK



North crosses to dummy with a top \D to draw trumps via a finesse of \SK,

leading \SQ or \S9 and running it. 









}

[BCFlags "1f"]

[Auction "S"]

1NT Pass 3S Pass

4S AP



[Event "Practice Hands Module 4"]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:K72.AJT9.KJ53.QT QJT9.62.T97.J987 A43.Q53.Q82.A632 865.K874.A64.K54"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{With 12 HCP East invites game in NT opposite their partner's opening. West has

a maximum, so they accept the invite and go onto 3NT.



North leads: \SQ\n

Declarer wins the lead on dummy and leads \HQ and, if not covered, runs it to

finesse the \HK.\n

After the successful \H finesse, Declarer plays \Ds to establish extra tricks

in that suit for an overtrick in the 3NT game. }

[BCFlags "1f"]

[Auction "W"]

1NT Pass 2NT Pass

3NT AP

�

